:gb—/L Slemsuy

uIBIuOO eyl abed U} JO WOROG SU) B $8X0q OM} BU} Ul SIeNa| 8sau} Julid
JI O] 1XU SJ8)8| OM] 8} 921}0U PUB UWIN|OD JOMSUE jS8JesU U} Ul UOIN|0S
ey} pulq "poylel uonnsgns eyl Aq mojaq suonenbs jo waisAs yoee 8A|0S

¢ 118 A31D juney o} 2p152Q Jsoy9 3yl piQ AUMm

ala|lvIiWwl LAl TNl L{3[|B|O| LT 3L | NV i1|XI

stlzilieleetorfor| sl 6|8 |8l s|2lo9|lo|s|s|y|V|E|€E|cC Lo

] g— = A2 + X— | _ Ll =Ac —Xxyp ]

1H (e=~7-) 9L =A-xg @ (e9) 2=A—-X Q VM &N\,mﬂ

YIN 4 mv el = Ay + X9 Gt oL=Ap—x vH (€ ‘L)

—In

‘ =A-X +X—=A4 ‘

HL = @ : © a3 (276)
€ .2 g=Az—-x L+ Ap =X

X3 L . . 3g (&%)
C mv - =4 —x5 (O} (270) 21 =he-xz ©) _

N3 \Q\.& HL (= '9)

. g—=A-x2 ~ L=K—Xp
1S (¥ ‘€e-) L =A+Xx @ (£-1) goxz=4 @ LN e~"T)
a 8) (L 2) Gl =42 +x2 (') 6 =42 +Xx 1 %7l
L Z 2's

_ —=f-x —Ag =X

| £ FIV g ° Q F @ VS (‘1)
z_. L =4z +X . . crt=A+x

3l (£~ 8) 1) prmtersa- Q) (%) =i (D oL (9

d3 | Aml .mv -os1010%8 Jey) Jo Jequnu ayy | 1S (2 'v)

'9—| Siemsuy

OBJECTIVE 6—b: To solve systems of equations by the substitution method. © 1989 Creative Publications 163
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